[bookmark: _GoBack]
	Score 
	Description 

	3 
	Student response includes the following 3 elements. 
· Computation Component = 1 point 
Correct addition to find 6/8 as the total amount of homework completed
· Computation Component = 1 point 
Correct subtraction to find 1/4 as the total amount of homework left to be completed
· Reasoning Component = 1 point 
      Correctly explains their answer


	2 
	Student response includes 2 of the 3 elements.  

	1 
	Student response includes 1 of the 3 elements. 

	0 
	Student response is incorrect or invalid.  




Score Description

Sudent response incTudes e ollowing 3 clements.
« Computation Component = I point

Correet additon to find 65 asthe otal amount
ofhomework complted

« Computation Component = I point

Correct subtaction o find 14 s the total
amount of homework lel to be completed

« Reasoning Component = I point

Correctly explains ther answer

tudent response includes 2 of the 3 clements

| Student response includes 1 of the 3 lements

tudent response is incorrestor nvalid.




